OPERATING INSTRUCTIONS FOR THE
SUNNEN
CRH-50 ROD HEATER

CAUTION: Reod these instructions carefully and |
ssarve all safety procedures.

A SRR Ve, T

SUNNEN PRODUCTS COMPANY o 7910 Manchester, St. Louis, Mo. 63143, U.S.A. ¢ (314)-781-2100
SUNNEN PRODUCTS CO LTD., Chatham, Oniatio, Canada (Tradcmark Liconsece)

AUTOMOTIVE DIVISION



SUNNEN CRH-50 ROD HEATER

XXX

Heating Unit

o AUTION-HOTe A/

Plunger Clamp

Rod Stop Nut Pin Stop Clamp

Pin Stop Post

Plunger

Rod Nest
Loceting Bor

Rod Nest
——————— Centering Screw

Piston Clamp
Handle
Non-Skid

Surtace

Indicater Light

() -!.

SONNEN

BASSeCYS TOmEAnY

Pin Inserting Tool

ROD HEATER
CRH =50

ON/OFF Pin Stop Heat Set Heot ON
Switch Height Clamp Knab Button
FIGURE }
The Sunren CRH-50 Rod Heater (sce Figure 1) is The uriform. controiled hea' provided by the CRH-50
designed to assemble press-fit piston pins with a c¢xpands the pin end of connecting rods so assembly
minimum of effort and to ehminufc scoring during requires only hand force

assembly.



INSTALLING THE CRH-50

The CURH-50 can be installed on most workbenches,
A two-way {lanpe 1s provided to hook over the adge
of the hench snd keep the Rod Heuarer from sliding
during use. The {lanpe has a one-inch Lip and a
two-inch lip for benches having a radius. See Figure

2.

Two Way
Flange

FIGURE 2

SELECTING THE HEAT CYCLE

The Heat Set Knob may be set between 0 and 9 — the
higher the setting, the longer the heating cvcle (refer
to Chart | below). For passenger car rods, such as
those for Cheviolets, Plymouths, ete., set the heat
cyele to O or 7. For smaller rods, set the heal ¢ycle
lo a lower setling. Larger rods will require highes
seltings, As you pain experience and become more
skilled in assembly, you may reduce the setting.

Heat Set Knob Approximate Time

Position in Seronds
{ 17
2 34
3 52
q 70
5 88
6 106
7 124
B 142
9 160

Chart 1 =

* Al times shown are approximaticns only.

PREHEATING THE HEATING UNITS

Note: 11 is pecessary to preheat the Heating Uni
for one heal cycle (the same cycle used for heating
the rods) so they will be at the proper hear levels
when heating the rods. While the Units are prebeating,

vou may begin setting the Pin Siop.

). Turn the ON/OFF Swiltch 1o ON.

Note: The CRH-50 mav be plupged into any 115-val1,
}5-ampere, grounded (3-pin) outlet, Since the [
Heater willdraw ubout 15 amperes, it 1s not advisubl
to operale other squipment on the same circuil.

2. Turn the Heat Set Knob to obtain the desirod
heating cycle and push the Heat On Dufton.

SETTING THE PIN STOP

1. Check the Pin Stop Clamp to be sure 1t is 1ighl
Loosen the Plunger Clamp and push the Plunger
inside the Pin Stop (toward the jleating Units) until
it bottoms against the Pin Stop. See Figure 3. Slide
the Plunger Clamp forward as far as it will go
and Lighten ir.

FATAY LY

FAVATAT . —aYAl

PLUNGER




2. l.oosen Lhe Pin Siop Clamp and slide (he Pin

Stop to the rearmost
Units) See Figure 4.

position (toward the Heating

FIGURE 4

3. Pullthe Piston Clamp Handle forward and slightly
to the right. Place the piston on the non-skid surface
of the Rod Heater deck so the pin hole 1s aligned
with the Plunger (see Figure 5). Then release the
Piston Clamp Handle.

Piston

-

Clamp

Handle ‘ 5&

FICURE 5

mark @r notch on tLhe
the way you place the

Note: Most
piston head. In some cases,
rod in the piston will depznd on the localion of
the piston noicls.

pistons have a

Pin Stop
Clamp

Pin Stop
Paost

4. Place the wrist pin in the piston. Loosen lhe
Pin Stop Height Clamp and raise the Pin Siop (see
Figure 0) until the face of the Plunger butts squarely
against the end of the wrist pin. Tighten the Pin
Stop Height Clamp.

&

FIGURE ¢

S. Center the wrnist pin in the piston.

6. Rest the pin end of the connecting rod on the
piston pin so both the rod and pin are centered in
the piston.

7. Mick the pin with o penc:: at the rear edge (or
Pin-Stop side) of the rod. See Figure 7. Then renove
the rod.

FICURE 7

8. Slide the pin rearwnrd (toward the Pin Stop) until
the mark is even with the inside of the rear pin boss.
This 1s the correct the pin dunng
assembly.

position for



9. Slide the Pin Stop against the Pin. See Figure 8.

FIGURE 8

10. Tighten the Pin Stop Clamp and recheck the
pencil mark tobe sure the pin 1s positioned correctly.
Then slide the pin forward out of the way.

11 Carefully, loosen the Plunger Clamp and position
the Plunger so 1t protrudes through the pin boss at
least 1/16 inch. See Figure 0. Tighten the Plunge:
Clamp.

FIGURE 9

Note: Space ‘A’ must be large enough for the rod ta
enter [reely.

12. Loosen the Pin Stop Height Clamp and, holding
down on the pistosn. rasse the Pin Stop ountil the
Plunger rests against the inside top edge of the pin
hole. Rotate piston slightly wiile lifting Plunger
to allow piston and Plunger to align tnemselves,
Tighten the Pin Stop Height Clamp.

HEATING THE ROD

vou have preheated the Heating Unit
as described below,

Note: Be sure
then procced to heat the rod

1. Place the journal end of the rod in the Rod Nest

and the pin end or eve of the rod in the Heating

Unit. See Fipure 10.

FIGURE 10

2. Adjus! the Kod Stop Nut so the eye of the roi is
centered in the Heating Unn. See Figwe 11,

Note: The Rod Stop Nut is provided with flate for a
5/8-inch open-end wrench 1n cuse you are unable to

lighten it sufficient]ly by hund.

Rod Stop Nut

FIGURE 1]



3. Using the 2 1o-ineh hex wrench, adjust the Rod
Nest Centering Screw so the rod is ceatered verti-
cully in the Heoting Unit. See Figure 12.

Nole: The Rod Nest Centering, Screw probably will
aot need frequent adjustment, but cheek each rod
series 1o be sure they wre cenlered in the Heating

Unit

Rod Nest
Centering
Screw

3/16’" Hex
Wrench

FIGURE 12

4. Check the Heat Nt Knob to be sure 1l is on the
desired heating cvele inid push the Heat On Button
Note: Refer to the PREHEATING instructrons for
selecting the heat cycle.

5 When the Indicator Light on the control panel goes
off. the rod 15 heated and ready for assembly.

Note: The Heating Untt will hold temperatute for
about 60 seconds after the light shuts off.

ASSEMBLY

Note: Steps | throuph 3 below may be done whil
the rods are heating, Steps 4 through 6 should he
done with u continuous, taicly rapid motion to prevent
undue heal loss and the resultant contraction ot
the rod.

I. Clean the piston pin and pisten pin hole 1hor-
oughly. Check the fit and remove any burrs. The pin
must slide freely into the pin hole,

2. Locate the wrist pin 1a the pistan pin bore furthes!

-

from the Plunger.
3. Place the Pia lnserting Tool in the wrist pin.

4. With o quick ond continuous motion, remuve Ll
rad from the leating Unit and place the eve of 1
rod 1n the piston so il rests on the Plunger. See
Figure 13.

Pin lasesting Tool

Weist Pin

5. Alipn the rod eye with the pin bore ia the piston.

FIGURE 13

6 Push the pin into the piston with the Pin Inserting
Tool and hold firmly against the Pin Stop while the
rod is against the face of the rear piston pin boss,
Hold in this position momentarily until the 10d cools
off and contracts enough to hold the pin.

CALIBRATING THE HEAT SET KNOB

To calibrate the Heat Set Knob:

1 Tighten the Heat &¢l Knob 1o its shaft, usin
the sct screw n the Knob, and turn the Knob and
shaft fully counterclockwise (to mechanical stop)

Do not force beyond stop.

2. L.oosen the set screw in the Heat Set Kaob and

rotate the Knab only until the white arrow alipn:
with the “0" index line. Tighten the set secrow



X.CRR-5000A

_~Saalic o
SUNNE

SHOP
EQUIPMENT

PARTS LIST
FOR
CRH-50
ROD HEATER

SUNNEN PRODUCTS CO. » 7910 MANCHESTER « ST LOUIS, MO 63143 U.SA « PHONE. 314-781-2100 » TELEX. 044-888
SUNNEN PRODUCYS €O, L10. (1rademork Licensee) - 70 GRAND AVE EAST o CHATHAM, ONTARIO TANADA » PHONE 514.352-4550



BOD HEATER
CAW=30

FIGURE A

PARTS LIST COVERING FIGURE “'A"

o S

S | oRDERBY | E_©

= PART > W X

w NUMBER | X% % DESCRIPTION
) CH.187C . Bumper wieh

...... Bumper Sleeve
...... Screw {10-32 x 1/2 Bur. Hd. Cop)
...... Washer (Special)
. . Non-Skid Surfoce Set
....Rod Nest wiis
...... Screws (10-32 x 1/4 Buyt. Hd. Cop)
.. .. Rod Stop Nut wirh
...... Round Hd. Boli (174-20 x 5/8 Rd. Hd. Sq. Neck)
...... Wosher (3/8 Special)
...... Wosher (1/4 Plain)

2 CRH-177A
3 CRH.130A

4 CRH-176A

_ e e N = N e —

(Parts cantinuved on next page)



PARTS LIST COVERING FIGURE ""A” {cont'd)

: ] o}
o ORDER BY | L
< — X <
= PART bl £ V4
& NUMBER | ™ ¥ DESCRIPTION
= & o
5 PHS.584C ] . Centering Screw with
6 PG-2753A | Spring and Washer
] CRH.125A 1 .+ .. Hear Shield witi
6 | ...... Screws (10-32 x 1/4 Buy. Hd. Cap)
3 CRH.140A i . ... Top Guard wiih
6 | ...... Screws (10-32 x 174 But. Hd. Caop)
8 PNP.504A 1 .. .. Caution Plate and Top Strip with
9 2 .. .. Screws (5-40 x 1/4 Rd. Hd. [.M.5.)
Shown | CRH-102A 1 Coil Mounting Plare
E.E.c.‘:.- CRH-103A 1 . Mounting Plate Insulator
Shown | CRH-1TIA 1 . Coil Insulator
3?:\:.‘ CRH.108A 14} . . Spacers (Seporates Cail Mounting Plote from Housing)
10 CRH.1054A | . Heating Unit for 220/230 Volr, 50/60 Hz Mochines e /.
P S I Serews, Washers, Nuts ond Gaskets
104 CRH.106A ] . . Heating Unit for 115 Voly, 50/60 H1 Machines tnctwd: «
2 |- Screws, Washers, Nurs and Gaskets
I CRH-230 A 1 . . Pin Stop Clamp nuih Washer
2 CRH-232A } . Pin Stop Post
13 CRH-210A 1 . Plunger and Pluager Clamp wiif
CRH.222A | A Stop Screw
13A CRH-228A | I S Plunger Clamp Block with
| Washer
L R T IT Retaining Ring
) S Lock Screw Assembly
14 CRH-123A 1 . ... Locating Bar wirth
| Lock Washer (5/16 Lock)
| I IR Screw (5/16-18 x 3/4 Hex Hd. Cap)
15 CRH-90 A 1 , Piston Clamp Handle «ish
o CRH-27A ) I Pivot Nut with
L N I Screw (10-32 x 1/2 Flat Hd. Soc. Cap)
16 PEM.400A 1 . . Indicator Light (Does not include Lamp)
et | PEM-399A ! .. Lomp for Item 16 1220/230 Volt, 50/60 Hz Machines)
shot FEM-401A 1 . Lamp for ftem 16 1115 Voit, 50/60 Hx Machines)
17 CRH.237A 1 . Pin Inserting Toof
-._;l:l,_o‘l.., 1 ... .Spring Clip (For Pin Inserting Tool) nnh
| Screw (6-32 x 3/16 Self Tapping Pon Hd.)
18 CRH-14BA 1 . ... Bottom Lip with
2 .. Screws {10-32 x 1/4 Bur, H4. Cap)
2 | ... Nuts (10-32 Hex)
19 CRH.115A 1 . ... Timer for 2207230 Volt, 50/60 H2 Machines inaludes
..... . Knob and Button
194 CRH-117A 1 ... Timer for 115 Voli, 50/60 Hz Machines (nelud -
...... Xnob and Bution
20 CRH-85A i .. Pin Stop Height Clamp Knob nuih Washer
21 CRG-299E 1 . Swiich
22 CRH-153A ] . Front Bar wuth
2 I Screws (10-32 x 174 Byr. Hd. Cup)




FIGURE B

PARTS LIST COVERING FIGURE B

. > 1
2 | orDERBY | = ©
= PART Z WA
on] < 0 U
= NUMBER {5 & DESCRIPTION
1 EWL.301A 1 .. Wire Set (14 Goge Hi-temp Cable - 4 pcs.j
2 CRHAZ20A 1 . Cord ond Plug for 115 Volt, 50/60 Hz Machines
..... incivdes BUShII‘\g
2 CRH-121A 1 ... Cord and Plug lor 230 Voli, 60 Hz Mochines includes
..... Bushing
2 CRH-122A 1 . Cord and Bushing for 220 Volt, 50 Hz Machines
..... includes Bushing (does not include Plug)
3 PSP-303A 1 .. Spring
5;‘::,,, CRR.98A l . ... Bracket {10 anchae PSP-303A Spring ltem 3) with
SE:‘.L" 2 dsae - Washers (Special:
SE:;,, 2 |...a.. Screws (10-32 x 174 Byt. Hd. Cop)
4 1 ... Timer (See hem 19 ond 19A, Figure A)
5 } .. Pin Stop Height Clamp Knob (See ltem 20, Figure A)
4 | CRH.170A 1 . Bottom Cover wirh
) S I Anention Labe!
L Scraws (10-32 x 1/4 By, Hd, Cap)
S::l:‘:n PHM-736A 4 . Feet (Pkg. of 4) wun
L I Scrows (10-32 x 1/2 Bos. Hd. Cap)
5?,:’:," KN-229A ! . Hex Key Weench (3716 Across Flats)

SUNNEN PRACOUCTS [0 = 7910 MANCHESTER « ST.LOUIS, MO 63143 US.A « PHANE. 314-781- 2100 « TELEX: 044-888

SUNNIN PRODUCYS L1,

Traden

o 00 GHAND AvL EAST « CHATHANY ONTARIN, CANADA « PHONE: 519-357 4550



wD-122G

WD -1226 |CRA-50 K/A/B/C] ] '

T04%

R AR BISCRISTION SVNBOL [ANT ias DLAC 01 FiON
ama e L - Fdlal
Rer. lawral " VIRING DAGRAM

:;“‘L “'I‘-,. ”m PEOSNCTS GONALEY "v-«b_ 12&6

‘:I\'? BY LOud miGPpUS. v § 2






